Transfers Report

This report contains the transfers results.

Contest Name

Ward 20 Baillieston

Valid Votes

Positions to be Filled

Quota

Quota

Ward 20 Baillieston

6,935

1,734

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Elaine BALLANTYNE	Scottish National Party (SNP)	2,263
Phillip CHARLES	Scottish Conservative and Unionist	1,454
Jim COLEMAN	Glasgow Labour	1,562
Theresa KEENAN	Glasgow Labour	436
Scott MCKELVIE	Scottish Libertarian Party	20
Liam MCLAUGHLAN	Scottish Socialist Party - Save Our Services	81
Richard STALLEY	Scottish Liberal Democrats	133
David TURNER	Scottish National Party (SNP)	827
Kayleigh VAN DONGEN	Scottish Green Party	159
	Total	6,935

Candidate Elaine BALLANTYNE Elected with 2,263 votes, being in excess of the quota of 1,734

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Elaine BALLANTYNE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Elaine BALLANTYNE	0	0.00000	0.00000
Transfer to Phillip CHARLES	42	0.23376	9.81792
Transfer to Jim COLEMAN	199	0.23376	46.51824
Transfer to Theresa KEENAN	52	0.23376	12.15552
Transfer to Scott MCKELVIE	8	0.23376	1.87008
Transfer to Liam MCLAUGHLAN	25	0.23376	5.84400
Transfer to Richard STALLEY	16	0.23376	3.74016
Transfer to David TURNER	1,701	0.23376	397.62576
Transfer to Kayleigh VAN DONGEN	94	0.23376	21.97344
Value of non-transferable ballot papers			29.45488
	Total		529.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Scott MCKELVIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Elaine BALLANTYNE	0	0.00000	0.00000
Transfer to Phillip CHARLES	2	1.00000	2.00000
Transfer to Jim COLEMAN	1	1.00000	1.00000
Transfer to Jim COLEMAN	2	0.23376	0.46752
Transfer to Theresa KEENAN	2	0.23376	0.46752
Transfer to Theresa KEENAN	2	1.00000	2.00000
Transfer to Liam MCLAUGHLAN	1	1.00000	1.00000
Transfer to Richard STALLEY	4	1.00000	4.00000
Transfer to Richard STALLEY	1	0.23376	0.23376
Transfer to David TURNER	3	0.23376	0.70128
Transfer to David TURNER	3	1.00000	3.00000
Transfer to Kayleigh VAN DONGEN	1	1.00000	1.00000
Value of non-transferable ballot papers			6.00000
	Total		21.87008

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Liam MCLAUGHLAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Elaine BALLANTYNE	0	0.00000	0.00000
Transfer to Phillip CHARLES	3	1.00000	3.00000
Transfer to Jim COLEMAN	8	1.00000	8.00000
Transfer to Jim COLEMAN	3	0.23376	0.70128
Transfer to Theresa KEENAN	1	0.23376	0.23376
Transfer to Theresa KEENAN	7	1.00000	7.00000
Transfer to Scott MCKELVIE	0	0.00000	0.00000
Transfer to Richard STALLEY	3	1.00000	3.00000
Transfer to David TURNER	18	1.00000	18.00000
Transfer to David TURNER	15	0.23376	3.50640
Transfer to Kayleigh VAN DONGEN	5	0.23376	1.16880
Transfer to Kayleigh VAN DONGEN	30	1.00000	30.00000
Value of non-transferable ballot papers			13.23376
	Total		87.84400

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Richard STALLEY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Elaine BALLANTYNE	0	0.00000	0.00000
Transfer to Phillip CHARLES	1	0.23376	0.23376
Transfer to Phillip CHARLES	23	1.00000	23.00000
Transfer to Jim COLEMAN	26	1.00000	26.00000
Transfer to Theresa KEENAN	11	1.00000	11.00000
Transfer to Scott MCKELVIE	0	0.00000	0.00000
Transfer to Liam MCLAUGHLAN	0	0.00000	0.00000
Transfer to David TURNER	11	0.23376	2.57136
Transfer to David TURNER	10	1.00000	10.00000
Transfer to Kayleigh VAN DONGEN	29	1.00000	29.00000
Transfer to Kayleigh VAN DONGEN	4	0.23376	0.93504
Value of non-transferable ballot papers			41.23376
	Total		143.97392

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Kayleigh VAN DONGEN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Elaine BALLANTYNE	0	0.00000	0.00000
Transfer to Phillip CHARLES	1	0.23376	0.23376
Transfer to Phillip CHARLES	15	1.00000	15.00000
Transfer to Jim COLEMAN	22	1.00000	22.00000
Transfer to Jim COLEMAN	14	0.23376	3.27264
Transfer to Theresa KEENAN	4	0.23376	0.93504
Transfer to Theresa KEENAN	22	1.00000	22.00000
Transfer to Scott MCKELVIE	0	0.00000	0.00000
Transfer to Liam MCLAUGHLAN	0	0.00000	0.00000
Transfer to Richard STALLEY	0	0.00000	0.00000
Transfer to David TURNER	86	1.00000	86.00000
Transfer to David TURNER	61	0.23376	14.25936
Value of non-transferable ballot papers			79.37648
	Total		243.07728

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Theresa KEENAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Elaine BALLANTYNE	0	0.00000	0.00000
Transfer to Phillip CHARLES	3	0.23376	0.70128
Transfer to Phillip CHARLES	17	1.00000	17.00000
Transfer to Jim COLEMAN	360	1.00000	360.00000
Transfer to Jim COLEMAN	13	0.23376	3.03888
Transfer to Scott MCKELVIE	0	0.00000	0.00000
Transfer to Liam MCLAUGHLAN	0	0.00000	0.00000
Transfer to Richard STALLEY	0	0.00000	0.00000
Transfer to David TURNER	26	0.23376	6.07776
Transfer to David TURNER	18	1.00000	18.00000
Transfer to Kayleigh VAN DONGEN	0	0.00000	0.00000
Value of non-transferable ballot papers			86.97392
	Total		491.79184

Transfers Report

This report contains the transfers results.

Stage 8 - Surplus of Jim COLEMAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Elaine BALLANTYNE	0	0.00000	0.00000
Transfer to Phillip CHARLES	17	0.03437	0.58429
Transfer to Phillip CHARLES	444	0.14707	65.29908
Transfer to Jim COLEMAN	0	0.00000	0.00000
Transfer to Theresa KEENAN	0	0.00000	0.00000
Transfer to Scott MCKELVIE	0	0.00000	0.00000
Transfer to Liam MCLAUGHLAN	0	0.00000	0.00000
Transfer to Richard STALLEY	0	0.00000	0.00000
Transfer to David TURNER	208	0.14707	30.59056
Transfer to David TURNER	102	0.03437	3.50574
Transfer to Kayleigh VAN DONGEN	0	0.00000	0.00000
Value of non-transferable ballot papers			199.01889
	Total		298.99856

Transfers Report

This report contains the transfers results.

Stage 9 - Exclusion of David TURNER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Elaine BALLANTYNE	0	0.00000	0.00000
Transfer to Phillip CHARLES	23	0.03437	0.79051
Transfer to Phillip CHARLES	67	0.14707	9.85369
Transfer to Phillip CHARLES	321	0.23376	75.03696
Transfer to Phillip CHARLES	208	1.00000	208.00000
Transfer to Jim COLEMAN	0	0.00000	0.00000
Transfer to Theresa KEENAN	0	0.00000	0.00000
Transfer to Scott MCKELVIE	0	0.00000	0.00000
Transfer to Liam MCLAUGHLAN	0	0.00000	0.00000
Transfer to Richard STALLEY	0	0.00000	0.00000
Transfer to Kayleigh VAN DONGEN	0	0.00000	0.00000
Value of non-transferable ballot papers			1,127.15706
	Total		1,420.83822